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K 4 B 1R 2R BEtE  6m#  S5EH
INI EEER EZRE 192 190 382 36 25
ERK EEE FTEBISD 182 185 367 28 25
BIE AE W®AHIFT 183 182 365 28 23
AR E EZRE 176 179 355 25 22
WA EC AR 173 168 341 14 28
NI RERRTF 167 156 323 12 19
wH AR 146 162 308 7 23

CP&F

K 4 B 1R 2R BEtE  6m#  S5EH
INI EIZE EZRE 184 179 363 24 28
FE a9F EEER 177 182 359 28 21
A+l BF AR 167 168 335 10 34
B'H R¥F H®AHIFT 164 166 330 15 22
R XEFEI AR 166 161 327 14 21
EA O FF O FEOSD 151 162 313 10 18

RCEHE F

K 4 B 1R 2R BEtE  6m#  S5EH
HFE EA FEUSD 153 160 313 8 20
Wi E 7ILas5T 140 141 281 8 16
ik RlE AERKT 126 126 252 5 10
h#t x5 AR 119 130 249 5 10

RC&ZF

K 4 B 1R 2R BEtE  6m#  S5EH
EH BE ®AHIFT 136 141 277 8 15
BE W<H AR 123 130 253 4 11



